
&mtlfb U) / MATHEMATICS

( �t.61� LD(DIDJt.O qj._,ffi.l<'tlru GU� / Tamil & English Versions) 

Gp;iJLD : 2112 L.Oam ]
Time A llavved : 2½ Hours l 

( QLDfT�tb LD�LIQU�T8561T : 100 
[Maximum Marks : 100 

"�g6161.j rn IJ : (1) � 60">6of ¾� Gbl 60Trr a,a, ® LD .if rfhu 1m; c9iSSi u u � 6U rr ffil �61Tffi � rr GT 6mu �66)�
a= rfl u rr rr ��a; Q e; rn,ir m 61.J LO . � a:5r LI u � 6l5l Gi.J ® 66'> !D uSl ® LI L5l 6m � 6m D) a;
e; Gm" a; rr@11fl u u rr GIT rf1 _ u:i � L60T!.!J-tU rr a; Q � rfl GE1858>61.J LO.

(2) .£6l)I.D �Q)6Ugjl 8>(5Lll...l @LDuSl60">Gm LDL{b)(;LD GT@�6U�!D@)LI LJlU6mU@��
G6U��@I.D. u Lr&.J8iGTT 6U60"liJ6U>7J(D@) G LJ6TISI Gi.J u lU6mU 0��61..! LD.

Instructions : (1) Check the question paper for fairness of printing. If there is any lack of 
fairness, inform the Hall S11pervisor inm,ediately. 

(2) lisc Black or Blue ink to ,vrite and pencil to draw diagrams.

@)�LIY : @GU61S1Gmrr��rrm Jf>T6m@i t.9 fl61..jcn60"lffi85 Qa;rr6W -�-
Note This question paper contains four sections. 

t5lrfl61.j - I/ SECTION - I 

(LD�uQurora;m : 15) / (Marks: 15) 

®� LI Lj : ( i) @u t5l rfl 66)61) �Gr 6IT 15 66) 6lff rr 8,5.,�ffi@) .b 0.5166) LlU m1.s;8.i61..j Li). 15x1=15 

(ii) Q a; rr 0 a; e; u u L-0 m GIT )D rr 6b-r (§ LD rr rb !Pl 6l516o) La; erll ru L61 a:; &J LD e: rrl UJ rr 6ITT 
66l 60") L 6o) UJ � cg� rr Jb Q � 0 �� ® � u5 L 0 L Gm 6Ei 66) L uS166)6lff LLJ t.0 �a= rr �� 
G1'"@ � 64 LD . 

Note: (i) Ans,ver all the 15 questions.
(ii) Choose the correct answer from the given four alternatives and write the

option code and the conesponding answer.

1. n(A) = 20, n(l3) = 30 LD(DQ)lLD n(Av13) = 40 GT�ru. n(AnB)= 

(�) 30 (q!,) 10 (�) -!0

If n(A)=20, n(B)=30, n(AuB)=40, then n(AnB) is equal to: 
(a) SO (b) 10 (c) -40

( r:r:) 70 

(d) 70

( �(§Lll...jffi / Tum over 
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2. a7, a2,a3, ...... 6r6inlrg eO elLGSGlprLn 6rrfl6oeuEl6D -u;-** C'el';' f =]

erofleu, taarg zglLrq :

(€r);

ll ar, av a3, .....

3(a) ,

(S) rz a1 (n) 14 a,

(c) 1,2 at (d) 14 a1

2 erafle , etpeir 19cPel 53. eO Glu(E6(9$ Gpnrn or rfleo e uil6D 3 orSl LgLrLl

a3.r..1ac'lein . rr.rie el -euaiir :

(+)o

are in A.P. such thai

(b) 0

(+) 25

9!=9 16"11 16" 13tn lerm of the A-P. is :

az2

(er) 52

If the third term of a G.P is 2, then the product of Iirst 5 terms is :

(u) 52 o) 25 (c) 10

(g) 10 (Fr.) 1s

(d) 1s

(+)4

(gl) r (::,) ,+v
lhe C.C.D ol x LrV I V' ancl 1-- I r< '

(6)* v

(.) :r-y

6.

(a) 1

/4 -2\o=[u : J, 
aotrL*

116 4\
{sr) [:o "J

,r o:(l _1), n*" o'o

(u) (1l;l .') [; :J

(") 
[: ;)

(b) r+y

^2 -

/8 4\ I-4 2\
(+) [rz .) t6tl [-o :J

4. f (x):2x2 + (p+ 3)r +5 6r6ir@lir L.r6Dg]guLl& Gs norar ugJeir @g 9r+6lu rroefleir

*.@peu gEEuLb eraieu P eir oPLrq :

(g) 3 (") -+

ofpis:
(u) 3

(gl)3
The sum of iwo zeros of the pol)'nomial / (:r) = 2r2 + (p +:)r + 5 is zero' then the value

(b) 4 (.) -3 (.1) - 4

(*) ,' !t'

(d) ,2 -v2

* xy +f .rpg|o ra I 46lu:or$fleil L6'CLn'or :

l--l(c) 
[_u aJ r.r [" -.1
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3

4x.+3y 12:0 6r6irp Cpiric6n0 y- €l&606 6l6rLGlLb q6iT6fl :

(gl) (3, o) (+) (0 4) (O) (3. 4)

The stmight line 4n+ 3y-12=0 intersects the y-axis at :

(a) (3, 0) (b) (0,4) k) (3, 4)

4623

7.

8.

o. L-,lrg$ld 44 =

6r6tfl6i IBAD:

tB:40' , tc:60',

(r) (0, - a)

(d) (0, 4)

(r) a0"

srur6)l 3 gs6)ili, ! G6,rLOE goti,r@ -4 +s6rllb L6ir6n GpririGsnrqein +ioeiun@

(sr) 3r.-v-4=0 (+) 3n+y-4=0 (g) 3x-y+a:0 (lr,) 3r+y+4=l

The equation of a straight line l1aving slope 3 and y intercept -4 is :

(a) 3x y 4:0 (b) 3r+y-4=0 (c) 3r-y+4=0 (d) 3x+y+4=0

BD
DC,

B

(€r) 30'

AB BDln trzure/"ACDC

(a) 30'

10. Clgrircsn6dir AABC 6i)

CD=

(gl) z+ C1e.L6

(+) s0" (gr) 80"

lB=40" and ZC=60", lhen IBAD:

AABC is a right angled triangle, where
AD=4 cm, then CD is :

(b) 50' (c) 80' (d) 40'

tB=90" Dbgttl BDl AC. BD=8 Cls.L6, AD:4 Cle.16, o6rfl6i)

(q) to Ge.6 (@) az Cle.rf (m) 8 Gle.L6

lB=9O" and BD-LAC. If BD:8 cm,

(a) 24 cm (b) 16 cm (c) 32 cm (d) 8 cm

I d),lrullg / T.rrn over
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11. cot€ + tan0
(9) cot 0

sec 0

coto + tan 0
(a) coi e

Gsnq[$616in e-ur1Lb.

(sl) 30 Lf. (+) 27.s 16.

equal to i

(a) 400 cm3

sec 0

ongr rr@ri Gsqg :

(s) 42

2
(er) 7

(@) 28.s Lf.

(b) 16 cm3 (c) 200 cm3

groun.l is 1.5 m. The
Then the height of the

(d) 27 m.

c urlLi: 5 Ge.r6.

(+) tan 0 ($) sin 0 ( r'r,) - cot 0

(b) tafl 6 (c) sin 0 (d) - cot 0

12. ;6 Gsnqy$9u.SlOpgr 28.5 16. gJr[FS 61) f eingr G]snainq([,d;grn ggeri'
Ce-nqlB$eii reSoru 45' qlpd Gon6an$$6L enaindlpni' glor(D6DLui

Cl-.$l-r. unireoorriGun@ p6DIruq6UOESl i 5 L6 o ur[$pd *oirarg oetieu

A man is 28.5 m. ah'ay from a iower. His eye level abol'e the

angle of elevation of the top of the tower from his e,ves is 45'

(a) 30 m. (b) 27.5 m. (c) 28 5 m'

13. g1g Gpnelur zlgarenugeh J)lL+!1166 rTLrq 80 + Ge'r-S epoin

erafleu s'Lb$lcin 56rrJ16n6] :

(.q) a00 Gle.L6.-1 (+) 16 Ge.6.3 (@1 200 Gr+.d' t*; S A'.6'

Base area of dght circular cylinder is 80.m2. If its he;ght is 5 cm, then the volume is

14, Eeu allourlllrsclfleiii e'u@& erlneri LopgLb $ruefleo6sLir OD6DpGu 48' 12 6r@fl61'

400(d) 
" 

cmr

(n ) +8(+)2s
Themeanandstancalddeviationofadataare43and12lesPectively.Thecoelficient
of va ation is I

1"1 ii (b) 2s (c) 28 (d) 48

15. gO Spri-nairqdLr (teap year) 53 G)euoirofl{iEpeoLoo6iT el61615l

53 66rfl &61 p6oLD56iT 6r(Do.pD6r6ir 616!])p66)l i

(o) 28

4
{6r) 7

1(+), 3(ir) 7

q
7

The probabiliiy that a ieap year will have 53 Fr;(iays or 53 Saturdays is :

4(.) 
7

2 1(b) i (d)
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Oflsq - IIl SECTIoN - II
(opLrGluainsoir | 20) / (Marks : 20)

4623

gdlu,-1 
'

Note :

(i)

(ii)

(')

(i')

ergleon erain 30 6(9 6afor+uure oflooruoflriseqb' Gppd 1a

oflennrioofl e6l g$5l 6JGp@ Lb 9 oflarn&oaron$ Gprieq Cleuruoq Lb'

Answer 10 questions.

Question number 30 is compulsory. Select any 9 questions from the fhst

14 questions-

16.

77.

AcB oraflai, A..tB LDDg]tb A\B g6lur6!D6Dpri; snai'ns (Clorai'nuu$eopLr

rurcirrGltiss).
If AcB, then find AnB and A\B. (use Venn diagram).

A=15, 6,7,8l,, B: |-1-1, 4,7,-10, 7,-9, 731 (r(il|s,. f:I@,v):y=3-2',"o,0",
6ror or6o[u..]Elrisuur@oiraiS / -oir or9see6 snditro.

tA A--{5, 6,7,81, B= l-77, 4 7,-10,-7,-9,-"131 and f:l (x, !) | v=3-21, x'A' v'B l'
Find the range off

o.@pci onaino : 13+23+33+...... +203

Find the sum of the sedes 13+23 +33+. .... + 203.

Glpnlgglarp erlg$peoeuu uuoirr@$$, rraq LolgLb L8$ enaino'

(3r3 +4r2 1oI+6)+(3ir 2).

Find the quotient and remainder using synthetic division

(3; + 4x2 - 1-0x + 6\ + (3x 2).

z+J5 ,opgLb 7 .,6 gSuor$op greurileonnori Gonaioru @gurqleLD6inun@

cren o6s.

Iorm the quadratic equation whose roots aag 71J5 and 7-J3 .

t2r +v \ /5\
| 
-^ I l- I --^ I o afleu x Lop3Lb y erdluorfi'eiir $rioq onai'n+.

['x -ryJ \1r/
t2t tu r /5\

Solve lor .r and v iF I : I l--l.- l\.r -3y) lr3 l

18.

19.

27-

[ $141uqo / Tum over
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22.
.961Ifl JG Lr (9di56D sirdi'1T6'

,-l 5, Loirrr 'o ,l o1 
=rr,f 

r -6-6'r€6i 6n ga'ennd+b Ce ---$dgal rqo 66

,ltrrl" i--;.r, ^;hp;6; 
$'q6 e,b '66' 'ir='s€i o9'6! "r'6'860 

6-e

5tT66',dl5,

FinLl the coordinates oI the point which Crivides the iine segment ioinjng (-3' 5) and

(4, 9) in tlle ratio 1 i 6 internallY'

(Z 1) LoDgLb (5, - 8) 6r6i,rp qeiroflseoor $oneon&(5Ln G6YOP 5l6iiT 6oL-^ P' Q 6r6inD

I*lnTri **r, eoursrirs6flrslr o'tlaattp- lr6irdfl P +6irgJ 2r-ur'k=0

.r.tp G"nIqJ Gioeu zoirorS aroflo k - eir Lo$)uq snaino'

P anci Qhisecttheline segment ioinrng the points (2' 1) and(5'-8)' lfthepointPlies

on 2r , k 0 'le" fir,i t\P raltr' of L'

LlleinergLb gr$Gpn6eoLoaru $)pera :

sin 0 =1-cos0.

gadlsaieir Grlgriaeu ou eo l ul glria rl u @ ro ner reu

I 4 2\
12 e -3ll," rl
l+ -r o.l L ,l

\ ''l

Find the product of the matrices' iI exjsts'

l4 2\
(2 o tll-o tl
14 -1 oll , ,l\ - -/

23.

24.

25.

26.

cosec 0 + coto

Prove the foltowing identit,v :

sin 0 =1-cos0.
coseco + cot(]

6i,.A 
".6i 

,o eq"46 116S l)&, rlr.r'kr &6i L-166 - @'rio o5o'e r0" q'-d

4"";H,.=:;-;;;""" I ',.o'.o' '-'5 un-- *.'31---:'l
,."nG56gr, 

""", 
Lf . +u1$$1ei zdrong eredei srural pcrr5Sl6iT Edt-LD.'srr6!ir5'

{rafipiorunloaJirgloaclsrromntnck'ia*ananglcof 'le\'rtronor 
10"' lllhe lopol

tf"."'ip t' Oo m abore Lhp g ounclrcvel Iner lind'he lenElh o[ the r'flp

14 L-8. 4;gglcnar 919 dlarfrflotr +116 515 96 e5r rf rrrD6g < 2 eSpLb stti.

;;E;"#;."di*6pi15 66ta;rr s+ +5gLb 6eeuo6larem.; snaire

The radius of a circular well is 5 m' lind the Jrst of cementing the surface to the depth

of 14 m at the rate of I 2 per square metre'
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r9einargLb Lo$Lrqoqg&qg oS6+ Lo$gLb agleriGleqg snome r

59,46,30,23,27, 10, 52, 35, 29.

Find the range and coefficient of range oI the data.
59,46,30,23,27, 40, 52, 35, 29.

eO 8[n6ir rooru @1air@ g:arp rq9[Lru@6lpgr (g* erairoorfleiri a,(!gel 9
fenr ier G:3 elpria- or rf o lpooq o.ains.
A die is tlrorvn twice. Find the probabiiitv of getting a total of 9.

(et) ur eroiug AMNO -61 ,:M ein Glerofllrqp @19eLoGlelrq GLogLb $rgrNO -oin $rflugenar r -u9ei e$pri6pgt. MN=10 Cle.6., \aoj 6e.d.,
NO 12 Gs. 6 e en ei Ot pri a -aio a.

gl60oDgl
(g) z1 Ge.d. .%[gl,6ir6n gq9 ouu$$o!g$g 120' 6i)LDUr6 GcneourLb Gsnainr

919 
-or 

rrB Go narLr L: 1gp oo ur Gl or 1116 u @$g, slp6i,r +[ ri]6alor
geirfl enewr.$g g1g a'6 r nri6 orne, d eor6 gLb a,Lb 61 oiir er aooJr qLt eo u&

.22
a;||6rFf6 f ]i:- |

(al In a ANINO, NIP is the elternal brsectol of ZM meeting NO producecl at p. If\IN = 10 cry MO = 6 cm, NO = 12 cm, then lind Op.

OR
(b) A sector coniaining an angle 120" is cut off from a circle of radius 21 cm and

folded lnto a cone. Find the cuNecl surlace area of the core. (Take n =7 )

4623

28,

30.

12 cm O

| $19Lrqo / Turn over

https://byjus.com/?utm_source=pdf-click
https://byjus.com/?utm_source=pdf-click


4623 8

Eflsq - IIII SECTIoN - I1I

(m$luGuainooir : 45) / (Marks :45)

Odluq : (i) 9 o6leornristgg&g oflcoruefiBseqLb' 9x5=45

' 
i9 ",sl*" er# ei ag eedurlquune, ergeoruofltioeqb 1rp56b 14

e$enn&sofl e6119$5 8 o6lenn&oeoor$ Gpneq G+Liruel 6'

Note: (i) Answer 9 questions

iil) Or"uio" "o-uer 
45 is compulsory Seiect any 8 questions tuom the first

14 questlons.

31. A={a,b,c,d,e,f,8,x,y,z},8:11',2,c'd'e}LogrpLbC=id'e'f'g'2'ylererrs.
A\(BvC)= (A\B) r-\ (A\C) 6r6i!ru6i)p erflrrriris'

1"1 4 = {a, b, c, d., e, (, 8, x, Y, zI, B= 17, 2, c, d' e} and C = {d' e' t g' 2' y}

Ve ly A\(BrrC)= (A\B) '\ (A\C)

32. EnriLl /: t-7,6) + R 8$ri;oai'rreurp o]eo1u-rgltioLrLrL06irffig,l'

l,',zt 1 7<\/ \
I

/trr=i r15 5<'<"
I ,', 2<)'6

rgleiFalgo a alfeoPli sroi'r+ :

o 2 f (- 4\+3 f (2)

4 t (- 3)+2 l(4)(ii) j;6fi f \tt

A function/: [-7,6) _> R is defined as follows'

Iind :

(i) 2f (-4)+3f (2)

... 4 f\-3)+2 J \4\0r) -f t4yu\t)
33. 8 €60 erlgu$tib eleoar$5 Gp6rrO6Dd;6 @ueu oainoofloin e'0p6i 5r6ii'r5

Find the sum of all 3 digit natural numbers' which are divisible by 8'

t^ ''" '
f(r)={ .t+5 -5=x=2' 

I .-, 2<x<6
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111
*y' ,v' ,l*.%6lur6ir 80 e'LoS 6lpmLi 6)r fl6osuEl6ir U6hE sGg.gopp

LglLls6ir aredei, r, y, z +dlLLrcdr gg 6lrgd;g$ Gpntri errfleoeugcin ppeingl
sr@pp@.$p zgLrqscir oer $)geqs.
.11r,t ;U,r- y I are l]uee .onspculi\e tprrr. of an A.P.. then prove iirat.r. i/. I are

three consecutive terms of a G.p.

o oSpLb B qdlu:elrel jr2-3jr+1=0, erciirp eLoeinlntgein (,arue# crofld 1=
a+p

.1
LopDLo 

A €S urorD6nD gteurateennsi; Cie rainr @gu4e aLoeiriurr gooanri

gnaino.

If o and B are the roots of the equation 12 3x+l=0, then forn a quadlatic eqration

$hose roors aie L ur-r.1 1_a+p (tp

m-n}+2812+12ir3+9a4 
-2,6!]gt (!Dqg aririeLb erafai, m, n q6uJer$Sloin

o$ 
' lra.o ri +nair+.

Ilr -r;r+ 28xz +12f + 9:r4 is a pefect sqtare, then find the values of m and n.

(\ )\ /) -r\o=l ; ;lu-l _- ,'i.#*.iAB)f .BrAr er.:r g.gei1o.
\' -/ \ ' 'l

(5 2\ t) -1\UA-l- ,IandB|-, , lveri\ tl-at ,cB)r--B-.ArV c) [-r t)

i-3,4), (-5,-6), (a,-1) LoDgd (1, 2) g6lur (!D6D6n66i)6n{i gsnairr pr$or1$6lein
r.:6rrq enains.

Find the area of the quadrilateral ia/hose vertices are ( 3,,1), (_5,_6), (4,_1) and
(1,2).

et+LrLr6DL o61dp eLo$Gggprn (Gpeteil GpgpLb) erL9$ pgLllj;o.
State and prove Basic Proportionality Theorem (Thales Theorerrr).

4623

34.

35.

35.

37.

39.

[ $giL:qo / Turn over
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47.

42.

4623 10

' ' 1i$ eO 8 'bj6ii P 60'r9eh c i'pd *^^T t 
-*'40. 8O Gs,ruqo$* *j.-::-".: *"*. lluaa L+f . d, ..rirrri 3e ,6d,i, \0 o;3, b

-;no g.ah 5leir gl q l]j'er' S n Fg oo

fla' q6i'J'6ir e u P6is5 $'hmc
Goriqq$516i1 LUrrJb 50 d 6rei

rhe ansre of elevatioll:lth:t"|,'i,:*'1fJil.j5li:il i,::5: ";1,,**Tg]; *
elevation of tLle t.F ol ihe tolve

i-'n. ,f.", ' ^a 
thp I'prghl or rhF h:lr'

Gnneurr a'6q errao$o golkiouuur elee rsdtp3 :ILLLD l:+f , 

LoDETLo

.erseir e urq D 2.8,-6' 66h5' giGf *t6ft; o"o 9"!c - ttg rrga'rrie floe 'eir

il;'- I;r;- * gp -6' s' "".l '!.---'* srie eir snrrrdr

uqleou,i onaitre

A heap or pa,rdr - ;n ,hc rorm ., r:: ::111.i..,:;::::.;i i;'"'iil"lil; ;,lt,T"
It the heap is to bc cnvereLl e\actl) hy

area of the can\ as neetled

8 Ge.L6. ofluu(9r-b 12 Gl+'16 ru-rr1gLb Gsnaitrr 919 Gpiari r gcro--Lo gtOLilti
-*i:;*;;;;t;Lo 

4 L8 L6 +re6iT6n 9a;rLos ce11 -l3-gyqT":
#;;*" ;:; ; - it;6'o c* i*- 

"r 
raer gain @ o ofl eir 6r6&n661 1 5 6111 66it u r 6

gnaiurs.

An iron risht circ,rar ":"" :t-tli::'11ij;l }"l:l';:iff,TlxiJ*:"ii" 
*'

spllerical lead shots each ot ridrus 4l

.r,m errq.lrgEo p-$s-r-r- - ' - rar gr 'elri rcs ri6'1 6' Gotie- ro6l Gloo

oo d,q. o ,nt-" riee' Gl '92 Lo6 d'It"* 2J' ll ro 16' 21 2s $ 'q6-6if

erglor l$$eir $ru oSleurisLb enaors'

A test in cenerar Knowredse-was conduLte 
I 

t?Ti 
li.: "*:il'5ililait::'li 

:fiffl
hw 6 students were 20, 14, 16' 30' 1I ar

e(e L, 6 6D L 6 ro rp - D -{ 
d 

: ? :fl 
,-HX?I'XX""T l?T $ j [?

6Do 6r" e't L r r. ro -* ']1 ':;', i" ,r?,E ui,. s. i,. .icud ora;o s
n ai,ns6rfl6h €i Ggd 8 +s g n'8r96D

II a c{ie is rolled twice, find the Probabilit-v o{ gettin, an even numbel in the lirst iime oI

a totai of 8

43.

44.
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45. (.9) S[m6ir Gora$p6l 96 Glprri euainquneugt (rrain) 90 6).d. g1rtr$a)p 6L,Dgg].
etgg!6irLu.r GeroLb Loolidg 15 6l.d sq$lefl.iou I rqg$pneL ruanLb
Claur q Lb Gp rLb 30 $) u5l rroooir geop$p6& gA aerfl d, Gpnrri er ainraugeir
STneli Gorori enains.

el6il6Dgt
(+) AABC -ein grarenoeir A (1, 8), B (. 2,4), C (.8, 5). GLDgri M, N 6rdru6i.l

gr6opclr AB, AC Oer$fleir p@uqeirofl 6r6ifl6i, MN -eir erureoeu6 snaiors.

@orpri 6onain@ NIN LoEgLb BC €dlur GpririGor@oeir $ooatr oeo6

(n)

eru(!to.
A train covers a distance of 90 km at a uniform speed. Had the speed been
15 km/hr more, it would have taken 30 minutes less for. tl-re journey. Iind tl-re
original speed oI the train.

OR
The vertices of AABC are A (1, 8), B \-2, t), C (8, 5). ff M and N are rhe
midpoir-rts of AB and AC respectively, find the slope of MN and hence ve fy that\f\ i.pa-dlle. ro BC

l-sliflal - rvl SEcTroN - rv
(opLr6rai.,nseir | 20) / (Marks r20)

gf)uq : goirGlerng or9ernergg6 renor @ rauGr Lorfg ofleunarar$ Cpri$Glp$r$g
$16 o0eornri;sqgiigri o0coruorfrrieoeqib. zx.to=zg

Note : Answer both tlte questions choosing either of ihe altematives.

{6. (el) 6 Cle.r-E. qqgr6iT6lT g19 ourrLi erarl$g elpein arLou$$rel $g$gt
10 Ge.d. Gpnareuo6dl roirorr g1q qoierfloru:ri gflrie. elLr qoirofl uqeb @1D$gl
er,l rr$$l$6 Gpn@Gsr@soir er arl$5t et geir $orraoaoor oarrid@o.

gl5D 605l
(g) AB= 7 6e.16., lA:80", AD -4.5 6e.6. olgLo BC:5 Gle.L6. ereiirp +rorelseir

Clsnainr ourr pno6[Lb ABCD 6!6r[6.
(a) Dmw the two tangents from a point which is 10 cm away from the centre of the

( ircle of radiuc o.n-. Al.o. ned-Lre.he lcrg ,. o[ tl.e tangent>.
OR

(b) Construct a cyclic quad lateral ABCD with AB=7 cm, ,tA:80., AD=4.S cm
and BC:5 cm.

(b)

| $1qlqa / Turn over
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47. (J}r) 6)l6D[uLLir gD6DLb $n{j;g i x2-31-10:0

9160605t

(g) 9(E rfl$e!ainL+ 9r@uerri a oehp @rr$perslopgJ B 6r6ijrp 6l.,gdDg eo- Fro- Go,:s$$reu 9G7 or:pu9eu GlerdGougl pruoeifleu Ll ueonLb Geurdlpnft'

ge,ri ru#Li 6leurg GersLb .gpg,rT[p6l6i]6ddj sr6o er@$g6Glonairr

G5lib gdluoLr!aopL-.r r$f1u o$erurfuoeir (Gars - e neu) r9leirargrb

+rturoreoermuSJeu 61on@risuIr@droren

GareLb (61 d / Loari ) (t ) 2 4 6 10 12

GDtIb ( LD6biflu-El6!) (Y ) 60 30 20 L2 10

Geus - srcu araotllrLb eueol$5 el$a9q$gl

(i) sl6ln morflrig 5 6l.rf. Gero$$cJ 6l66irDr6D gJr[p6i.'p oL rio qi5':
ru.lem-r Gpr/Lb.

(ii) sr6!ft 6)r;6dllr6ur 5tr1$eop a0 Loooli Gpp$$eu orBs er$p Gers$$ln

ruarflBe Gerai,r@b I
46ueularp oraile .

Solve the e,.luation graphically r2-31 10=0

OR

A.vcllst kavels fuom a place A to a place B along the same route at a unilorm

speld on drfferent clays. 
-The 

following table gives the speecl of his iral ei and ihe

, orre-pond'ng ttme he .ooI lo cover ll_e .llttanae.

Speed in km/hr (ir ) 2 4 6 10 12

Trme in hours (y ) 60 30 20 12 10

Draw the speed-t1me SraPh and use it to find

(i) The number of hourc he witl take if he travels at a speed 5 km/hr'

(ii) The speed with which he should travel if he has to cover the distance in

40 hrs.

-o0o-

(u)

(b)
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